SIEE R — A5V R (1) |

SIEE L — A5V R(4) |

3 _
—— AL F—F
— —=—FEAO%E |
< 2
=
M
8 1
8
o- o—p—r—p—_—n — - » » » -
47 48 49 50 51 52 1 2 3 4 5 6 7
B GA)

SIEER A BREY— 15V (5) |

3 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
—— [R5
~ + "/
2 o
= — — (ERHAHR
A
(-F
£
O —7% - 7% - 7% . 7% . 7% . 7% . 7% - A - A, - 7% . A - 7% . Fv+—
47 48 49 50 51 52 1 2 3 4 5 6 7
B GR)
SRS B — R ATV R (2) |
12 ¢ ——KiE
L —— R TR N\
2 — — REE R / AN
= —
Elll 6 \ 7
8
£ 5 | /—\/ /
0 ————— —— iy ————
47 48 49 50 51 52 1 2 3 4 5 6 7
B (GE)
QB BRIE S —~AFVR(3) |
I ——mA% |
—n— ER %
2° TE/RRE |
;mz
18
K 4
0 71 o o » = = = = - - — 4
47 48 49 50 51 52 1 2 3 4 5 6 7

By (B)

—— (D JLIH
20 —a— MG
‘\ A\ — — RSB
N ‘
%&o
0 e i iy w
47 48 49 50 51 52 1 2 3 4 5 6 7
B47(E)
O Vil G S IR TP CHAT LT 5
O DA 7N FiHIFEAERBRITY

% I/ NRRHES FT7HE(2/12~2.718)




